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Success Criteria

Aim
• I can divide mentally by partitioning, calculating and recombining.

• I can partition whole numbers up to four digits.

• I can partition numbers containing decimals.

• I can divide numbers mentally.

• I can recombine numbers to complete my calculation.
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How many different ways can you find to partition these numbers?
E.g. 1524 could be partitioned as:

Perfect Partitioning

1000 + 500 + 20 + 4
1500 + 20 + 4
1500 + 24
500 + 500 + 500 + 20 + 4
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Parrots Can’t Read is a mnemonic - a way of remembering the letters PCR.

Parrots Can’t Read

PCR is a strategy
we can use to make tricky 
mental calculations easier 

to work out mentally. 

The letters PCR
stand for partition, 

calculate and
recombine.

For example, to
divide 4824 by 4:

Partition:
4824 = 4000 + 800

+ 20 + 4 

Calculate:
4000 ÷ 4 = 1000,
800 ÷ 4 = 200,

20 ÷ 4 = 5
and 4 ÷ 4 = 1

Calculate:
4000 ÷ 4 = 1000,
800 ÷ 4 = 200,

20 ÷ 4 = 5
and 4 ÷ 4 = 1

So, 4824 ÷ 4 = 1206
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Parrots Can’t Read can also be used for numbers with
tenths and hundredths. 

Decimals

For example,
to divide 48.24 by 4:

Partition: 48.24
= 40 + 8 + 0.20 + 0.04 

Calculate:
40 ÷ 4 = 10,
8 ÷ 4 = 2,

0.20 ÷ 4 = 0.05
and 0.04 ÷ 4 = 0.01

Recombine:
10 + 2 + 0.05 + 0.01 = 12.06
So, 48.24 ÷ 4 = 12.06
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Harry, Harvey and Harriet have been washing cars
to earn a bit of extra pocket money. 

Pocket Money

They made a profit of £24.96 and now need to 
split the money equally between the three of them. 

How much will 
each of us get?

We will each
receive £8.32.How did you 

work it out?

How could you use partitioning to 
make the calculation easier?

£24.96 = £24 + 90p + 6p

Divide each amount by 3:

£24 ÷ 3 = £8
90p ÷ 3 = 30p
6p ÷ 3  = 2p

Recombine 

£8 + £0.30 + £0.02 = £8.32

Top Tip:
Partition the number into 

multiples of 3 if possible. If you 
partition £24 into £20 and £4, 

the calculation will be more 
tricky and involve regrouping. 

£24 + 90p + 6p will split easily 
into 3 equal amounts as they 

are all multiples of 3.
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Harry, Harvey and Harriet decide to start up a
little business washing cars on Saturday mornings. 

Share the Profit

Work with a partner to calculate how much money they 
will get each if they make the following amounts of money:

£33.66 £17.82 £31.44

Remember:
Try to partition into multiples of 
three to make the calculation 

easier. For question 2, try 
partitioning into £15 first then 
£2.40, then 42p, as 15, 24 and 

42 are all multiples 
of three.

1) £33.66 = £30 + £3 + 66p

£30 ÷ 3 = £10
£3 ÷ 3 = £1

66p ÷ 3 = 22p

£10.00 + £1.00 + £0.22 = £11.22

2) £17.82 = £15 + £2.40 + 42p

£15 ÷ 3 = £5
£2.40 ÷ 3 = 80p
42p ÷ 3 = 14p

£5 + £0.80 + £0.14 = £5.94

3) £31.44 = £30 + £1.20 + 24p 

£30 ÷ 3 = £10
£1.20 ÷ 3 = 40p
24p ÷ 3 = 8p

£10 + £0.40 + £0.08 = £10.48
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Use your marvellous maths skills to complete these activities:

Parrots Can’t Read
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Parrots Can’t Read is one way of remembering PCR. 

P C R

Can you invent
some of your own 

mnemonics to help you
to remember PCR?

Partition -
Calculate - Recombine

Who can think of the 
funniest one?
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Success Criteria

Aim
• I can divide mentally by partitioning, calculating and recombining.

• I can partition whole numbers up to four digits.

• I can partition numbers containing decimals.

• I can divide numbers mentally.

• I can recombine numbers to complete my calculation.
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